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QUESTION 1

A BIND server should be upgraded to use TSIG. Which configuration parameters should be added, if the server should
use the algorithm hmac-md5 and the key skrkc4DoTzi/tAKIIPi7JZA== ?

A. TSIG server.example.com. algorithm hmac-md5; secret "skrKc4DoTzitAKIIPi7JZA=="; };
B. key server.example.com. { algorithm hmac-md5; secret skrkc4DoTzi/tAkIIPi7JZA==; };

C. key server.example.com. { algorithm hmac-md5; secret "skrkKc4DoTzi/tAkIIPi7JZA=="; };
D. key server.example.com. { algorithm=hmac-md5; secret="skrkKc4DoTzi/tAkIIPi7JZA=="; };
E. key server.example.com. { algorithm hmac-md5 secret "skrkc4DoTzitAKI1Pi7JZA=="};

Correct Answer: C

QUESTION 2

A network client has an ethernet interface configured with an IP address in the subnet 192.168.0.0/24.
This subnet has a router, with the IP address 192.168.0.1, that connects this subnet to the Internet.
What needs to be done on the client to enable it to use the router as its default gateway?

A. Run route add default gw 192.168.0.1 eth1.

B. Run route add gw 192.168.0.1 eth1.

C. Run ifconfig ethO defaultroute 192.168.0.1.

D. Add "defaultroute 192.168.0.1" to /etc/resolv.conf.

E. Run route add defaultgw=192.168.0.1 if=ethO.

Correct Answer: A

QUESTION 3

All machines outside the network are able to send emails through the server to addresses not served by that server. If
the server accepts and delivers the email, then it is a (n) . Please enter the English term, without any
punctuation.

A. open relay

Correct Answer: A
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QUESTION 4
Which of the following is correct about this excerpt from an LDIF file?

dn: cn=PrintOperators,ou=Groups,o=I1T,DC=mycompany,C=example, DC=com

A. dn is the domain name.

B. o is the operator name.

C. cn is the common name.

D. dn is the relative distinguished name.
E. DC is the delegation container.
Correct Answer: D

Reference: https://msdn.microsoft.com/en-us/library/aa366101(v=vs.85).aspx

QUESTION 5

The Internet gateway connects the clients with the Internet by using a Squid proxy. Only the clients from the network
192.168.1.0/24 should be able to use the proxy. Which of the following configuration sections is correct?

A. acl local src 192.168.1.0/24 http_allow local

B. acl local src 192.168.1.0/24 http_access allow local
C. acl local src 192.168.1.0/24 http access allow local
D. acl local src 192.168.1.0/24 http_access_allow=local
E. acl local src 192.168.1.0/24 httpd local allow

Correct Answer: B
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